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Suppose we observe a market in which college graduates get paid more than high school graduates. Which of the statements below are valid inferences, based on this information?

(1) Employers must find college graduates more productive than high school graduates.

Ans.   ■ Valid    □ Not Valid

(2) A university education must impart knowledge and skills useful in the workplace.

Ans.   □ Valid    ■ Not Valid

(3) A society wanting to get more from its limited resources should allocate more resources to higher education.

Ans.   □ Valid    ■ Not Valid

(4) If the out-of-pocket and opportunity costs of going to college are equal for all potential students, those with the least aversion to studying will be more likely to attend college than those who have the greatest aversion to studying.

Ans.   ■ Valid    □ Not Valid

